= AH O
N = 0 &8 AF S & Al A
20008 = 2 3 Letg| | s2€ll=) EL2 ~ sY)|sd 20
2N sglIed SR
. disYIE Y 22 X
©el: I Es 228HE =4 (e
2N -3 - c2(3H) - NEME - HES 0] AFCH J| & @ Hns
sgJsd 20 12,865,633 12,904,329 N38,696
= 0 238,502 A238,502
== 12,865,633 12,665,827 199, 806
HAEsY)= e 22 X 690,336 660,836 29,500
WES 228A X4 690,336 660,836 29,500
HAL X122 87,574 58,074 29,500
101 Q1A H] 57,124 53,124 4,000
10 JIZMZ22HsEE S 57,124 53,124 4,000
OANdS22 R S EFZ 4,000 4,000
405 XHaHE SHI 25,500 0 25,500
01 MY SEFH S| 25,500 0 25,500
O&INEIHEEIL) 18,000 0 18,000
OF LA ol Al CH 7,500 0 7,500
WEees(sgllsd 21 2,093,723 2,104,000 N10,277
2 0 238,502 A238,502
< 2,093,723 1,865,498 228,225
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= 0 238,502 A 238,502
== 2,093,723 1,865,498 228,225
sSHIALIIATSE Y2 Ael=2 s 2,091,000 2,104,000 A 13,000
= 0 238,502 238,502
== 2,091,000 1,865,498 225,502
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04 SLHEXL 30| XHAHE 360,000 352,000 8,000
OsgHIALWIAXZH(HEXNS) B 360,000 352,000 8,000
= 0 220,000 A 220,000
< 360,000 132,000 228,000
06 JIEFRI 20| XHAHEH 231,000 252,000 A21,000
OsgdHIAL-MAXTH(ZRIIZ2) 231,000 252,000 A21,000
=2 0 18,502 A 18,502
= 231,000 233,498 N2,498
I NE XA Bta =2 2,723 0 2,723
802 vtet2DIEt 2,723 0 2,723
01 2NEXZEte= 2,723 0 2,723
OsYI|==20F BaxoH 2,723 0 2,723
HYSHAH (s =2 &2 10,081,574 10, 139,493 A57,919
QIAER2AH|(BY) 9,950,979 10,028,748 NT7,769
olERAH|(BY) 9,950,979 10,028,748 NT7,769
101 Q1A H] 9,364,669 9,442,438 NT7,769
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